Windows 10TGPODFDIi s 1 ay@E@mogviaky

0= 30
< - Lo Max =27

_— - 10

N L

— )
- 30
s | 0
. — 40
20 40 60 80
e FROY Y Y % EH

8 8 & 8

y2=45.0 tax=6.64

N\
\

20
20 ﬁ

50

<
17
ﬁ/

[=u]

0

=0

]\\
AW
<
A\

A
)
(i
\

201 9403H13H
HelperTex Office



L
GPODFDisplay Y7 N7 TIIEMODFY 7 b7 THTL7ZODF XD
FREREBLTWD, ¢2Wmd ¢ 1— DK,

File A-lron-Measure-Integr: Viev Search 7.0,7.fi Helf Fibe ODF DataBas Resolutic

filename: CAIDFWIDFAS

Max=F G
Min=-0.39

O — — Ik s i oo
MmMOoOMmOoOmOomoamOammoaDm

BungewZsection
u] an
i) 1

step=5.0

an
L

Y1=1.4 ®=457 y2=0.0 ODF=4.4 —> (0,1,1)[1.0,0] y1=0.0 ®=45.0 y2=0.0

Ao Lo Lo

¢ 2 =4 5

Filn A-INgn-Measure-Inte Vier Search 7.0,7 Hel Fibe OD DataBz Resolul

filename X NAODFWODF15
\\ Max=5 64

L=

ook b g m
DmomomomomoD

<

BungeyZzection

15 Y e O Y




Verl. 59056

0= 30
< - Lo 4 Max=27
%
P S |
40' —
@ 20
0 _ | — 30
— 3%
o=
= - - — 40
20 40 60 80
?1 DRI R T FBLT D,
il GPODFDisplay 1.595T[18/09/30] by CTR - O %

| File A-Iron-Measure-Integr: Viev Search 7.0,7 T Helf Fibe ODF DataBas Resnlutit|

W2=45.0 Wax=h 54
MM
10 __hBA
\& &r::“:?:—__ — &0
20 — __ 84
N | —as
30 \“\\EH 40
e 3.5
a0 — 30
Y _ 24
A0 — 20
14
1.0
60 __ oA
70
:“——___ I S
= -~ P B Sty
7 T /f’ﬁj}”;——
W 20 =0 40 &0 @0 70 &0




BED TR

¥H GPODFDisplay 1.605T[19/09/30] by CTR

File A-lron-Measure-Integr: Viev Search 7.0.7.1 Helf Fibe ODF DataBas Resolutit

30DF
tax=8.64
ALLODF Min=-0.39
ALLODF+AxisDisp - gg
Cubic — gg
i . 4.5
CrystalOrlentatlon 410
il 3.5
a0
_ 24
_ 20
__ 14
__ 10
__ 04
BungeyZsection
i} o0
u} 1
step=5.0
o0
[

yi=1.4 ©=457 y2=0.0 ODF=4.4 —> (0,1,1)[1,0,0] y1=0.0 ®=45.0 y2=0.0

~30D0F Euler Anele
E 450 45 45.0
il Az dispaly
= Display
[
1 QK Cancel
a

Fl—EulerfAEANTreturnd?&, Display 2NEIRTx £9,

a0 0F Euler Anele
i 450 45 45.0
il Az dispaly
. M Display
[
1 QK Cancel
o

OK TH7R



File A-lron-Measure-Integr: Viey Search 7.0,7,1 Help Fibe ODF DataBa: Resolutic

Max=F G

e

‘\‘v'_) Min=-0.34

Ao Lo Lo

i
h
g
5
4
4
a
a
2
2
1
1
0

BungewZsection
u]

1D D h O e O O

a0

Vi e wT Grid Zi%{R

File A-lron-Measure-integr: Viey Search 7.0,7.f Help Fibe ODF DataBas Resolutit

N

o

Font size >
|ax=H A4
Contour grid width > 0
ODF Smoothness Point(Cycle) 5
ODF Smoothness Weight ¥ 10
I
Filename disp OFF 15
GraphicsSize 30
45
.2
1.0
0.4

Ao fon f40




File A-lron-Measure-integr: Viev Search 7.0,7.f Helf Fibe ODF DataBas Resolutic
y2=45.0 Max=F 5
\ \\\ ‘\‘v'_) \\ k Min=-0.39

10 __ kA
N =
= \ == - gﬁg
20 - 40
ANSS —= 35
a0 M 3.0
T o 2A
. o %g
__ 10
B0 __ D&

Fa BungewZsection

o a0

J-ﬂ——‘-—___— ——t |
&0 Pt I Bt Sty
e T / ST s e
0 =20 30 40 &0 B0 70 &0
iy
dl GPODFDisplay 1.595T[19/09/30] by CTR — O *

| File A-lron-Measure-Integr: Viev Search 7.0,7.f Helf Fibe ODF DataBas Resolutit

yz=44.0 Max=h G
\ \\\ \U) \\ k Min=-0.39
10 __ (&
\ \\%____—__ —
0 e — gg
. . B 45
4.0
N — 35
o ] 24
e _ 210
_ 145
1.0
B0 __0a
70 Bungeyzzection
20 ﬁ:ﬁ
| T
0 20 20 40 ) &0 60 70 &0
¥

EEr

R RSN D,

DT EIFIRCT DD, ZOWSE~ T AT Y v



il contourlevelChange

FODF contourlesel

ODF Max: 6.64 Step: 0.5 Contour number: 13

ChangesStart

[ Fixmaxintens.

0.0

Step

10

0.5

Change number

[ The step doubling mode(1.2.4.8,16.)

[ Input contour mode Editing
Drawl ineeXidth{dauble)
[ 1.0
. ok || cancel |

gl GPODFDisplay

A\
Check #4+ L. OK

N

1.595T(19/09/30] by CTR

d X

File A-lron-Measure-integr: Viev Search 7.0,7 1 Helf Fibe ODF DataBas Resolutit

) AN

i N ==

. NS
NS

” el e / E;%;;

iy

MWax=h 54
fin=-0.39

==tk koo o
MO O O D e O o in




YA X2 [EET D,

¥ GPODFDi splay 1.595T[19/09/30] by CTR

Font size H
—— ax=h A4
K ﬁ Contour grid width , in=-0.33
" RN CDF Smoothness Point(Cycle) »— ES
=0 ODF Smoothness Weight >~ gg
45
30 Filename disp OFF a0
o 3.4
a0 GraphicsSize a7
& ] 25
_ 20
0 - 15
__1a
o __bs
70
L
a0 ””‘__T_::—h__ﬁ
10 20 20 40 4o G0 0 20
i
W1=655 ©=42 9 y2=450 ODF=0.3 —> (2,2 3)[-1-5.4] W1=6412 ©=43 31 y2;

File Help File Help
Windows10 Offset 15 Windows10 Offset 15
FrameSize Framesize
(default) present last (default) present last
Width(700) 519 700 Width(700) 519 319
Hight(740) 480 740 Hight(740) 480 480
CHCTR¥work ¥GP0 DF Dizplav¥Graphice 30 TAT CE¥CTR¥work¥GP0 DF DisplyGraphice 3D THT
QK Cancel 0K Cancel

AT %,



Windows 10Xy nEmEoEIY 7L

10

20

30

a0

[s{a]

0

20

Snipping % fR5E

H jo, 5dni| I

Snipping Tool N
TATMyT FTY

B L S

Bedwarmn B ET-Fw - (382 ~ X fovtlio O 7y

i [E-F RS EERLTREN YEY - FEERT I FRIFE] M9 ILTGE @
= L.

@@ Snipping Tool AHELLET ... A~

Snipping Tool FS& 07 yF7-FTHE LW Y- HIELLET. BetfmELETY I
BY & ATyF OEETYEWEFLTA TR,

=1 &

PYERY & ATyF EETHD

ol

SoOBARMERERS AN N i e |

A A OYID 2L

y2=45.0 Ml =F G

Min=-0.34

L

i~
[

N S

y
1
|

O — — kIR0 P s Mmoo o
MOMmMmOoOmomomomoaonm

l\
S
|
\

\
il
IR

|



RN D2

I] F¥ contourLevelChange

¢ D DF contourlevel E
ODF Max: 6.64 Step: 0.5 Contour number: 13
L
I Changestart g g Step 05 Change number E
M
)
] Fixmaxintens. 10
it
[] The step doubling mode(1,2,4.8.16,)
. (] Input contour mode Editing
-
?

DraviLineswidth{double)
1.0 L
=
9 L
OK Cancel )
D
1,': a
i | R : T

BIE1. 0—>2. O|CEW

’ i

In=-4.

SEAN L\ iy

z0 kw \:-::'—:—_H__-__"-——a; : E%

., NN -

AN 35

o T

__ 20

=0 15

10

B0 05

Fii]

a0 p— fr-::“""_'_




S T C T iE £ BN 1R

PH GPODFDisplay 1.60ST[19/09/30] by CTR

File A-Iron-Measure-Integr: Viey Search 7.0,7.f Helf Fibe ODF DataBas Resolutit

30DF 5
Max=5.54
ALLODF ] ] @ tin=-0.35
ALLODF+AxisDisp l\:\‘\ = B0
R
Cubic % ] f e
20
CrystalOrientation -
i e e (T e — 140
1 o L_ N 'Q,;___‘: a M= S
- [ars ==
: ‘_,-_:‘?’_—E——q = 'L%—_— U_.'-"":'_,.-:‘ - ———
= &5 % =
) ] = ..-a‘-‘f\ e BungeyZsection
i :J_,%’_'_f N [\ 0 a0
'\(_/_; Vi (i




File A-lron-Measure-Integr: Viey Search 7.0,7,1 Help Fibe ODF DataBa: Resolutic

filename: CAIDFWIDFAS

Max=6 B4
UIE% W Min=-0.39
\\_\—\ __ b
& =)
Flan f i R |
YN\ 30
_ 20
S N (T Py —
UM O LE
- fars L=
s =
B0 (B[ T
= I GEE
ﬁ @H\ W BungeyZsection
u] a0
i) 1
step=5.0
%‘i A A
a0
i
T C W A EE A FOR e LICA R
L]

File A-ron-Measure-integr: Viey Search 7.0,7,f Help Fibe ODF DataBas Resolutit

30DF
s Max=5 64
ALLODF A Min=-0.33
. B.
ALLODF+AxisDisp '1&Hi;\“RX = —
SR
Cubic :
N s
CrystalOrientation 10
ey (S —

T

E
i

il
a
J%
i

BungeywZzection
0 a0

u] 1
step=5.0

an
1]

3\
=
i

Ao oo LA




